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Based on Memory

REASONING

Directions (1 - 5) : Study the
following information carefully and
answer the given questions :

A word and number arrange-
ment machine when given an input
line of werds and numbers rearrang-
es them following a particular rule
in cach step. The following is an il-
lustration of input and rearrange-
menl. (All the numbers are two dig-
it numbers).

3. How many elements (words/
numers) are there between
‘feel’ and 15" as they appear
in the second last st [ Lhe
output ?
(1) Six
(3) Five {

(5) Nine
4. Which of the@:wing repre-

sents thegposidion of ‘wait’ in
the thir T
(1) Ni m the left

Input : tent 13 wheat 21 ask 63 (2) Sux om the left

: steal 49 hand 54 vast 85 L& “lh from the righl

Step I': 85 wheat tent 13 21 ask* (k enth from the right
63 steal 49 hand 54 vast Sla’'enth lrom Lhe right

Step 11 : 63 vast 85 wheat tent 13 ich word /number would be
21 ask steal 49 hand 54 @ it seventh position from the

Step Il : 54 tent 63 vast 85 wheat left in the Step VI ?
13 21 ask steal 49 hi.l‘l"'ld (1) ice (2) store

Step IV : 49 stleal 54 lent 63 3 e

P 85 wheat 1321 as ﬁy :f) e L
Step V@ 21 hand 49 steal 5 o)

63 vast 85 wheat

Step VI 13 ask 21 hardid >
54 tent 63 wheal.
and Step Viis th st step of
rangement is obt

As per the
above steps,

ollowed in the
out in each of the

following qu the appropriate
step for th inpul.

In store 95 clean 56 tape
15 bre: el 35 wail 69 ice 71

1. Which step number is the fol-
lowing output’?
35 [eet 56 ice 69 store 71 Lape
95 wail clean 15 break 28
(1) Step V (2) Step 111
(3) Step VI (4) Step IV
(5) There is no such step

2. Which word /number would be
at sixth position from the
right in Step IV ?

(1) 15 (2) wail
(3) clean (4) 95
(5)28

Directions (6-10) : Study the
following information carefully and
answer Lhe given questions :

In a certain code langus

‘make your (rip intercs

written as ‘de la pa ni’; @
is

‘your trip be custo
writlen as ‘ha ni La d.e‘: év
‘customised ttip % good’
is wrilten as ‘ta Ia 173

N happy' is

and “good ma
written as 'ka na.
6. Which ‘I: lowing is the
5P

code (i s

(1) ka {2) mi
(3) L (4) ta
5 'r la or ka

T ich ol the lollowing can be
d as 'pa ni de ha' ?

make Lrip be yvour
& (2) make your trip good
(3) your trip be good

(4) trip always be make
(5) trip be customised good

UNITED INDIA INSURANCE AO EXAM

8. Which ol Lhe following repre-
senls 'good trip always inter-
esling ?

(1)de ka ni 1a
(2) fa ni ka ro
(3) na la de ha
(4)ni fa la ka
(5) ta la fa ni

9. Which of the lollowing is code

for ‘make ?

(1) la (2) pa
(3) mi {4) ro
(5) Either ra or pa

"10. What doe: epresent in
this code = :
(1) trip (2) always
(3) g (4) your

(5) t@miscd

Dire ns (11 - 15) : Each of
the stions below consists of a
qur@md two slatements num-
I and 1l given below it. You

decide whether the data giv-
the statements are sufficient
tdanswer the questions. Read both -
e statements and—

Give answer (1) il the data in

statement I alone are sufficient to
answer the question. while the data
in statement I! alone are not suffi-
cient lo answer the question.
g Give answer (2) if the data in
statement 1l alone are sullicient to
answer Lthe guestion, while the data
in statement 1 alone are nol suflfi-
cienl Lo answer the question.

Give answer (3) if the data ei-
ther in slatement 1 alone or state-
ment 11 aloneare sufficient to an-
swer the question.

Give answer (4) if the data
even in both statements I and II to-
gether are not sufficient to answer
the guestions.

Give answer (58) if the data in
both statements 1 and Il together
are necessary lo answer Lhe ques-
tion.
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11. What is the position of Yogesh
froee the left jn the group of

I 16.

How many meaningful English
words ran be formed with the

21 studenis all ol them laciug letters ENCQ, using each let
north ? ter only once in each word ?
I. Praveen is exactly in the (1) None (2) One
middle of the row. There are (3) Two (4) Three
five persons between (5) More than three
Praveen and Yogesh. Yo- | 17, How many such pairs of let-
gesh s filth from the right ters are there in the word
end. COAST (in both the forward
Il. There are two persons be- and backward direction). cach
tween Seema and Praveen of which has as ers
and another two persons between them in d as
between Seema and Yo- they have betw in the
gesh, English alpha series ?
12. In which yvear did Ranjana (1) None
complete her graduation ? (3) Two Three
I. According to Ranjana's fa- (5) More n ghree
ther she graduated after | 18, Ina cen@de language CE
March 1989 but before stand r BD, NP stands for
March 1993. MO. %!vhat does JL stand
1l. The brother of Ranjana re- &Jr& .
meimbers correctly that she (1 (2) IK
did her graduation after 3 (4) ML
March 1991 but before 1J ”
mi';:;éggﬁ;‘:ﬁrgg{f::cﬁ @ a certain code language
l'll-ll‘lll)(.’l‘ FRAME is wrilten as QEBDL
£ and BLOCK is wirtten as
13. Are M. & and N 1n:a st KAPJB. How is PRIDE written
““': ? in that code language ?
I.Nis6 m('lr{:ls Easl of M. i (1 SQHFE (2) QSHEF
4 metres North of = (3} (JQJCD l4] Q()JDC
metres West o is 5) None of th
4 metres Sou ( S Oh Gt
1L P16 Gities M. Q 20. What should come ne_xt the
15 exaclly in ghe middle of P following smribes sexiq
and M. R nfetres East 0246230246450246670
of Q. S1s es South of (14 (2) 2
R. N is #\mettes East of S. (3)6 (4) 8
14. Whethe s 4 O's clock two (5)5 »
honrs g Directions ( - n each
foAL ent, both the hands | Broup ol guestions be are Lwo/
¢'clock face the oppo- three statement pwed by two
site direction along a conclusions gemmpbi land Il. You
stralght line. have Lo lak a statements
1 two hours ago, both the b‘;m::’: cvom ‘mﬁ):ns;f::; Ii?nt::::
I_“md"' Okt cloek toget(h- facls an Pdecide which of the
vr lormed an angle ol 120 5 .
e given ¢ ions logically lolIO\_vs
) from e /three stalements dis-
15. Amimg LA, G. K.Jand V who | eq commonly know)1 facts.
5 '_i"' tllest 2 ve answer (1) if only con-
I Vs taller than J and G. K jon I follows.
15 taller than [ and G. K is ) Give answer (2) if only con-
l‘Hil the tallest. cltision 11 follows
i1 Vs taller lh;tn K and I. J is Give answer (3) if either con
:‘::::;t"""' G. Vis not the | o1, 6100 | or conclusion 1l follows.

Give answer (4) if neither con-
clusion I nor conclusion I1 follows
Give answer (5) il both con-
clusions | and 11 follow.
21. Statements :
All pens are nibs.
All nibs are inks.
No ink is colour.
Conclusions :
1. All inks are nibs.
II. All pens are inks.
Statements :
All pens are nibs.
All nibs are inks.
No ink is colour.
Conclusions :
I. No colour is nib.
II. No colour is pen.
Statements :
No dream is project.

22.

23.

'ts are ventlures,
ts :
No is way.

1

n

é ways are paths.

ath is bridge.
clusions :

‘v‘ Some bridges are roads.

Il. All paths are roads.
(25-26) :

Statements :

Some numbers are digits.

No digil is alphabel.

All alphabets are letlers.

25. Conclusions :
1. No letler is digit.
Il. Some letters are digils.
26. Conclusions :
I. Some letlers are nuinbers.
“f1. All numbers can never be
alphabets.

Directions (27 - 30) : In these
questions, relationship between dil-
ferent elements is shown in the
statements. These stalements are

24.

Hfollowed by lwo conclusions :

Give answer (1) if only con
clusion | lollows.

Give answer (2) if only con-
clusion 11 follows.

Give answer (3) if either con-
clusion 1 or Il lollows,
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Give answer (4) if Neither
conclusion | nor 1l follows.

Give answer (5) if both con-
clusions 1 and 11 follow. "

27. Statements :
O>P>Q>R<S<T
Conclusions :

I. O>8
II. T>P

28. Statements :
A<B<C:B=D>E>F:G<
A
Conclusions :

I. D>A
1. A<E
(29 - 30) :

Statements :

Hzl=Jd2K:L<KiI<M<N

Conclusions :

I.H>M

I.LN>H

Conclusions :

. M<lI

L. Hz2K

Which of the following expres-

sions will not be true il the

expression UsVeWeX <Y

Z>A=B>Cis dcl’iuil.cly.lrt

(MzZ>cC 2)U <
{4)2.:!\\'

39.

30.

31

3)Y>V
BIB<Y

32. How many meaning % ish
words can be (o the
first, the fifth, th th and
the tenth letlers ¢ word

CREATIVITY . Ausipg each let-
ter only on cach word ?

(1) None 2) One
(3) Two (4) Three
(50 M n three

Diregétions (33-35) : Follow-
ing que s are based on Lhe in-
forma iven below :

(1) ‘P x Q" means 'P is lather of

(2) 'P - Q means 'P is sister of Q".

(3) 'P + Q" means ‘P is mother
ol Q.

(4) 'P + Q" means ‘P is brother
ol Q.

33. In Lthe expression B+ D x M

+ N, how is M relaled Lo B ?
(1) Granddaughter
(2) Son (3) Grandson

(4) Granddaughter or Grand-
son

(5) None of these

34. Which of the following repre-
sents 'J is son of ' ?
(WJ+R-TxF
BJ+R-TxF
B)J+M-NxF

(4) Cannot be determined

(5) None of these

Which of the following repre-
sents ‘R is niece of M' ?
(IJM+KxT=-R
BIM-Jd+R~-N
BIR-MxT+W
(4) Cannol be d
(5) None of the
Directions (; ) : Study the
following informat o answer the

given questiops,: ®
Seven @tcd movies— Up,
Finding lce Age. Aladdin.

en's workshop not nec-
the same order. The work-
arted on Monday and ended
nday. Only one movie was
ened on each day.

‘Beauly and Lhe Beasl’ was
creened on Wednesday. “The In-
credibles’ was screened on the
fourth day after "Up’ was screened.
‘lce Age’ was screened before Thurs-
day but not on Monday. ‘Shark Tale’
and ‘Aladdin’ were not screened o
Saturday but 'Shark Tal as

screened belore Saturday.

35

ed

36. Four of the following e
similar on the basis eir
position in the ab ge-
ment and hende group.
Which ol t g does
not belong to
(1) Up— d the Beast
(2) Th es — Aladdin
(3)s ale — Finding

Ne

Incerdibles

ding Nemo — Aladdin
which day was 'Ice Age'
cened ?

1) Friday

(2) Tuesday

(3) Thursday

(4) Sunday

(5) None of these

38. Which movie was screened on
Saturday ?
(1) Finding Nemo
(2) Up
(3) The Incredibles
(4) Aladdin (5) None of these
How many movies were
screened before ‘Shark Tale’ ?
(e (2)4
(3)2 (4)3
(5) None of these
. Which of the following combi-
nations is false with respect
to the given information ?
(1)'Up' was not screened on
Friday
(2) ‘Shark Tale' was screened
immediately after ‘Beauty
and the Beast'
(3)*The Incredibles’
screened on Sunday
(4) ‘Findin emo' was not
riday

39.

was

41~ 45) : Study
rmation to answer
the give ions :
Eig ple — L. M, O, P, Q,
R S -5 are silting around a cir-
cu le facing the centre. Each
likes different colours, viz.,
@rangc. Blue, Pink, Black, Pur-
le;" Brown and Green, but not nec-
ly in the same order. S is sit-
ing second to the left of N. There
are two persons between S and the
person who likes Orange colour. M
is second to the left of the person
who likes Orange colour. L is the
immediate neighbour of S. R is the
third to the right of P. O likes Purple
colour. The person who likes Pink
colour is second to the right of P.
The person who likes Brown colour
is the third to the left of the person
who likes Btue colour. Neither S nor
P likes Brown colour. N likes neither
Green nor Blue colour. L likes Red
colour. °
41. Who among the following is
second to the right of the per-
son who likes Orange colour ?
(1) The person who likes Brown

colour

(2) e (B)N

(4) The person who likes Blue
colour

(5) Cannot be determined
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42. Who among the following likes
Green colour ?
(1M 2L
(3] s (4} N
(5) None of these

43. Who among the following is
sitting exactly in the middle of
the person who likes Red co-

lourand Q ?
()R (2)0
(B)N (4)S

(5) None of these
44, Who among the following likes
Pink colour ?
()R (2)s
(3N 4)Q
(5) None of these
45. Which of the following pairs
of persons are immediate
neighbours of M ?
(l)NandS (2)Land$S
(3)NandP (4)RandS
(5) None of these
Directions (46 - 50) : Study the
following information and answer
the questions given below it.
Seven members H, I, J, K, L,
and N are¢ working in differept

ies Ahmedabad, Ban alm
Chennai, Hyderabad, Kolka%
n

and Mumbai not necess e
same order. Each one er-
ent mother tongue T: ada,
Telugu. Hindl. Mara abi and
Bangla not necessari he same

order. &.
J works in lore and his
mother tongu t Tamil or Mar-
atht. K's m&:ongue is Punjabt
and he wor hmedabad. L and
M do not wo Chennai and none
of the as Marathi mother
tongu rks In Hyderabad and
his mother tongue is Telugu. The
one who works in Delhi has Bangla
mother tongue. N works in Mum-
bai and his mother tongue is Hin-
di. L does not work in Kolkata.
46. What is J's mother tongue ?
(1) Telugu (2) Hindi
(3) Bangla (4) Kannada
(5) None of these

47. Who works in Chennai ?
(1) H 2L
(3) M {4)Lor M
(5) None ol these

48. Which of the following combi-
nation is correct ?
(1) Marathi-1- Hyderabad
(2) Tamil-M- Kolkata
(3) Marathi-1- Chennal
(4) Punjabi-K— Delhi
(5) None of thesc

49. Who works in Delhi ?
(1)H (2) M
(3) L 4K
(5) None of these

50. What is M's mot

(1) Bangla 0

(2) Marathi
(3) Telugu
(4) Cannot b ermined

K

51y arted a business in-
w g Rs. 45,000. Alter 8
mofiths Anisha joined herwith
apital of Rs, 52,000. Al the

nd ol the yvear the total prolit
was Rs. 56.165. What 1s the
share of profits of Anisha ?
(1) Rs. 21.450 (2) Rs. 24,440
(3) Rs. 27.635 (4) Rs. 31,765
(5) None ol these

1
B52. By how much is ?lh of .12

5
smaller than s th of

(5) None of these

53. One-third of rﬂ r is 96.
What will GN at num-

ber be ?

(1) 61 (2) 67 @
(3) 73 (4) b

(1) 192.96 Qj 181.44
(3) 16978 4) 204.48
(5) --% ese

54. In a clas$6l 35 students and
hers, each student got
that are 20% of the to-

ch teacher got sweets that
40% of the total number
f students. How many sweels
were there ?

(1) 245 (2) 161

(3) 406 (4) 84

(5) None of these

55. Prithvi spent Rs. 89,745 on his
college fees, Rs.51,291 on Per-
sonality Development Classes
and the remaining 27% of the
total amount he had as cash
with him. What was the total
amount ?

(1) Rs.1,85,400
(2) Rs.1.89.600
(3) Rs.1,91,800
(4) Rs.1,93,200
(5) None of these

56. The compound interest ac-
crued on an amount of Rs.
22,000 at the end of two years
is Rs. 5,596.8. What would be
the simple interest accrued on
the same amount at the same
rale in the same period ?
(1) Rs.5,420 (2) Rs.5.360
(3) Rs.5,280 (4) Rs.5,140

(5) Nonc o
87. The pro wo successive
numbeg 32. Which is the

greatdr,of 1the (wo numbers ?

(1) (2) 64
(3) (4) 66
None of these

. ages of Sonal and Nitya
@ rc in the ratio of 9 : 5 respec-
tively. After 8 years the ratio
of their ages will be 13 : 9.
What is the difference in years
between thelr ages ?
(1) 4 years (2) 12 years
(3) 6 years (4) 14 years
(5) None of these
B8. 30 men can do a piece of work
in 16 days. How many men
would be required to do the
same work In 20 days ?
(1) 12 (2) 36
(3) 48 (4) 24
(5) None of these
80. The profit earned after selling
an article for Rs. 1,516 is the
same as loss incurred after
selling the article for Rs.
1,112. What is the cost price
of the article ?
(1) Rs. 1,314 (2) Rs. 1,343
(3)Rs. 1,414 (4) Rs. 1,434
(5) None of these
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Directions (61-65) : Study the
following graph carefully to answer
the questions that follow : _

Total Number of Boys and Girls
in Five Different Departments

]

Number of Students

U I U T N

= - - —
= & B ) @
3 = 2 =2 =
2 =2 = =} E
= o o 2 g
— = 0 7
= = a
<
Departments

61. The number of girls fro ﬁ -
ogy department is ap
mateily what per cen
total number of girls

t
11
the departments @

(1) 32
(3) 37
(5) 27
62.
the total n

(5)
- What is the average number ol
boys from all the departments
together ?
(1) 122 (2) 126
(3) 130 (4) 134
(5) None of these
64. The number of boys [rom An-
thropology department is ap-
proximately what per cent of
the Lotal number of boys from
all the departments together ?

(1) 15 (2) 23
(3) 31 (4) 44
(5) 56

65. Whal is the respective ratio of
number of girls from Philoso-
phy department to the num
ber of girls from Psychology

department ?
(1)1:2 (2} 7z 12
(3)5:12 (1) 3:1

(5) None ol these
Directions (66-70) : Study the
woliowmie Graph carciully and an-
st the suestions Siven by
Unirs of Raw Material c-
tored and Sold by a ny
Over the Years (Uni rores)

Q\I wlianed

Raw Mager:,

T e y—p
D00 KM o D0 oy

Yeirs

66. Whalt is the average number
of units sold over the years ?
(1) 410000000 L
(2) 4400000
{3) 410000
{<1) 41000000
[5) None ol these
67. What is the respect
the difl erence ghe
number of
e year

nlw ac-

tured and .\M

2005 1to thed cnée between

the numbg %.\ manufac-
old in the year

tured
20067
(112.3 1)1 ¢2
N @ 1)3:5
ol these

s the respective ratio of
number of units manulae-
d in the vear 2003 to the
number o0 vt manuface-
tured i the year 2007 2
(Mm7:11 12)9:14
(3)7:9 (N9:11

D) None ol these

3

69. Whal is the approximate per
cent inerease in the number
ol units sold in the yvear 2007
from the previous vear ?

(1) 190 (2) 70
(3) 6O (1) 95
5) 117

70.What is Lhe difference be-
tween the number ol units
manulactured and the num-
ber ol units sold over the
years ?
(1) 50000000 (2) SO0V
(3} 500000000
(4) 500000
(5) None of these
Directions (71-75) : What
should come in place of the ques-
tion mark (?) in the following num-
bher series ?

71.1548 516 129 43 ?
(1)1 (2) 10.75
(3)9.5 4) 12

(5) None
72.919 189,
6.83

2.776 11.388

(1) 48. (2) 53.86
(3) 74. (4) 56.94
(5) of these
73. lgl44 190 259 ? 466
51 (2) 349
374 (4) 328
) None of these
&.14 43.5 264 ? 76188
(1) 3168 (2) 3176
(3) 1567 (4) 1580

(5) None of these

75.41 164 2624 ? 6045696
(1) 104244 (2) 94644
(3) 94464 (4) 102444

(5) None ol these
Directions (76-80) : What
should come in place of the ques-
tion mark (?) in the following ques-
tions ?
76. (17 x 588) =+ (28 x 120) =7
(1) 6.284 (2) 7.625
(3) 8.225 (4) 6.285
(5] None of these
77.45% of 224 x ?% of 120 =

8104.32
(1) 67 (2) 62
(3) 59 (4) 71

(5) Nonc of these
78. J7921 « 514 371 = (2}
(116 (2) 19

13) 15 (nz2i
15) None of (heee
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79.6573+ 21 x(0.2)*=7
(1) 7825 (2) 62.6
(3) 1565 (4) 12.52
(5) None of these

80.74156 - ? - 321 - 20 + 520
= 69894
(1) 3451 (2) 4441
(3) 5401 (4) 4531

(5) None of these
Directions (81 - 85) : Study
the following graph carefully to ah-
swer the questions that [ollow : °
Numbef of Students Enrolled in
Three Different Disciplines in
Five Different Colleges

[MB.A. WWB.Sc. [B.Con.

g

&
e

@ &
88

:

(=]
o
g

Number of Students
[ ]
(=

S o

C D
College

81. What is the total numbe@r of
students studyi “Qall
Colleges togeth
(1) 1825 (2)

B.A. in the Colleges
together ?

(1) 24:23 (2) 25:27

(3) 29:23 (4) 29:27

(5) None of these

What is the respective ratio of
total number of students
studying B.Sc ., B.A and
B.Com. in all the Colleges to-
gether ?

(1) 71:67:75

(2) 67:71:75

(3) 71:68:75

(4) 75:71:68

(5) None of these

84. Number of students studying
B.Com in College C forms ap-
proximately what percent of
the total number of students
studying B.Com. in all Colleges

together ?

(1) 39 (2) 21
(3) 44 (4) 33
(5) 17

85. Number of students studying
B.A in College B fo what
per cent of Lotalnu r afstu-
dents studying alligh& disci-

plines together i ollege?
(rounded off t gits alter

decimal )

(1) 26.86 27.27

(3) 29. 1) 32.51
ese,

(86-90) : Each
is followed by two
and B. You are o de-
ether Lthe data given in
ent is sufficient for an-
the question. You should
e daia and your knowledge of

possible answers.
Give answer (1) il the stale-
ment A alone is sufflicient to answer
the question, bul the statement B
alone is not sufficient.

Give answer (2) il the state-
menl B alone is sufficient togan
swer the question, but the
ment A alone is not suffici

Give answer (3) if bot -
ments A and B together are@ed
to answer the question.

Give answer (4)
statement A alon
alone is sufficient

.question.

Give f you cannot
get the ans he statements
A and B o . bul need even
more data

86. Is ofld number?

tiplied by an odd num-

r is'equal to an odd num-
A is not divisible by 2.

The ages of Pradumn and Gunit
are in the ratio of 7 : 5. What
is the age of Pradumn.
A. The ages of Pradumn and
Nandini are in the ratioof 3 : 1.

&

B. Alter 7 years the ratio of
Pradumn's and Aviral's ages
will be 4 : 3.

Whal is the salary of B, in a

group of A, B, C and D whose

average salary is Rs. 62,8807

A. Tolal of the salary of A and

C is exact multiple of 8.

B. Average ol the salary of A,

C and D is Rs. 61,665.

89. What is the three digil number?

. 4. The three digit number is
divisible by 9.

B. The first and the third dign
is 6.

. What is the profit earned by
selling a printer for Rs. 3,000?
A. The cosl price of 6 such
printers is equal Lo selling price
of 5 such printers.

B. 20% prolfil is carned by sell-

95) : Study
ation carefully
tions.

Lo answer L 1
The te s’ colony has 2800
memhcrm ol which 650 mem-

the flollowing i

bers rea y English newspaper.
550 members read only Hindi news-
pa 450 members read only

athit newspaper. The number of
ers reading all the 3 newspa-
is 100. Members reading Hindi
well as English newspaper are
. 400 members read Hindi as well
as Marathi newspaper and 300
members read English as well as
Marathi newspaper.

91. Find the difference belween
number of members reading
English as well as Marathi
newspaper and the number of
members reading English as
well as Hindi newspaper.

(1) 300 (2) 200

(3) 100 (4) 50

(5) None of these

How many members read at
least 2 newspapers ?

(1) 600 (2) 800

(3) 500 (4) 1000

(5) None of these

Find the number of members
reading Hindi newspaper.

(1) 750 (2) 980

(3) 1000

(4) 1020

(5) None ol these

92

.

83.
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94. How many members read only
one newspaper ?

(1) 1560 (2) 1850
(3) 1840 (4) 1540
(5) None of these *

. Find the number of members

reading no newspaper.

(1) 150 (2) 460

(3) 550 (4) 750

(5) None of these

Directions (96 - 100) : Study
the following graph carefully to an-
swer the questions that follow :
Number of Computers Manufac-

tured and Sold by Varlous

Companies in a Year (Number in
Lakhs)

—a— Manulaciured
—0— Suld

b
<
1

4
15 4=

Number of Commputers

T T T T
B Y D E

Companies @

96. Whal is the respective 1@
the number of compute! -
ulactured by compap I%d

C together Lo t r of

computers sold
A and C together

(1)4:5 (2) 14:11
(3)8:9 7:5
(5) None o e

97. Whatis ilference between
the ave mber of compul-
ers m ctured by all the
com ies Logether and the
a umber of compulters
S0 all the companies to-
gether ?
(1) 3500 (2) 35000
(3) 350000 (4) 3500000

(5) None of these

The number of computers sold
by company B are what per
cent of the number of comput-
ers manufactured by company
B ? (rounded olff to two digits
alter decimal)

(1) 83.33 (2) 120

(3) 78.83 (4) 106.54

(5) None of these

8

4

99. Thenumber of computers man-
ufactured by company D are
whal per cent of the number
of computers manufactured by

company E ?

(1) 125 (2) 1125
(3) 85 (4) 65.25
(5) 75

100. The number of computers man-
ufactured by company B are

approximately what cent
of the number of ers
manufactured by com-

panies together

(1) 22 2@
(3) 14 @ze
(5) 32

ENGLI \NGUAGE

Dire 101-105) : Rear-
rang&lh ng six sentences (A),
(B),( ) and (F) in the proper
sequen form a meaningful para-

en answer the questions
v elow them.

é)( ) Assuming that all these rea-

sons are true, the fact re-
mains that there is an ur-
gent need to check the ac-
celerated costs and initiate
suitable measures.
Some people attribute it fo
the increasing greedines:
among the medicos.
The impact of thes
sures will be visiblg o
after a considerab@ -

sage of time.

(B)

(C

(D) Health care cosls’have
in our
(E) include yoga

(F)
ause of drastic chang-
es In peoples’ lifestyle and
ating habits.

1 ich of the following would
be the FIRST statement afler
rearrangement?

(1A (2)B
(3)C (4) D
(S E

102. Which of the following would
be the SECOND statement af-
ter rearrangement ?

(1) A (2)B
(3)C (4) D
(5) E
103. Which of the following would
be the FOURTH stlatement al-
ter rearrangement ?
(1) A (2)B
(3)C (4D
(5) E

104. Which of the following would
be the FIFTH statement after

rearrangement?
(1A (2) B
3)C (4) D
(B)E

105. Which ol th¢ following would
be the SIXTH (LAST) slate-
ment after rearrangement ?

(1A (2 B
3)C 4D
(5 E
Directio 15) : In each
of the followin cnces there are
two blank s ! Below each sen-

tence the ve pairs of words
denomdhmbcrs (1), (2), (3). (4)
and (5). ut which pair of words
can lled up in the blanks in the
sen n the same sequence to
¢ the sentence gramumaltically
and meaningfully complele.
. To avoid ,there is a need
for planning of the
project.
(1) cancellation . Lroad
(2) prob.em, deliberate
(3) pitfalls, systemalic
(4) inconvenience, convenient
(5) losses, temporary

107. A good management will de-
cide not only the _____ Tfor
equipment bul also its
lor deciding priorities,

(1) need, urgency

(2) uselulness, utihity

(3) cost, value

(4) requirement, necessilics

(5) technology, methodology
108. appears (o be a small

error in Lhe beginning may
turn oul to be a in the
long run. .

(1) It, disaster

{2) Whalt. blunder

(3) That. debacle

(4) 1L, slip

(8) What, incident
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in nature, he
skills.

109. Being very _
always uses his ___
(1) adamant. soit
(2) polite, basic
(3) humble, éxpertmental
(4) pushy, persuasive
(5) myld, aggressive

130. Decmand and supply do nol

_____the same relajionship as

the one that ____, between
height and welght.
(1) possess, has
(2) incur, s
(3) defend, volumecrs
(4) bear, borne
(3) have, cxists

111. If the system _to yield the
desired result, try to the
whole procedure in the given
sequence.
(1) entitles, dump
(2) ignores, reproduce
(3) fails, reoperate
(4) imitatcs, generate
(5) equiips, encompass

112. He is so in his approach
that not a single point ever
___ his attention.
(1) meticulous, escapes ®

(2) casual, crodes \
(3) fanatic. brings
(5) nasty, coinc
113. Generally, __ dents
those who ediocre.

(4) deliberate, atlrac

(1) humble, s rmsunl
(2) meritorighagasurpass
(3) bright estimate

(4) inte nt, surrender
(5) st . respect

114. an should not be
t ted in our country

oasts ol ‘Ahimsa’ as
its way of lile.
(1) Politicking, elections
(2) Dishonour, elficiency
(3) Lethargy, procrastination
(4) Nepotism, selfishness
(5) Hatred, violence
115. He a wrong acl because
it was for him to do so

Directions (1168~ 125 ) : Read
cach sentence any to find out
whether there is any grammatical
error or idiornatic error in it. The
error. if any , will be in one part of
the sentence. The number of that
part s the answer,. If there is no
error. the answer Is (5). lgnore er-
rors of ,:unclu'uinn. if any.)

116, Wheat productions in the re-
giun (1)/ will fall dragtically
{-,-j/ s e dan a)
stop climate ¢ (4)/
o error. (5)
117. The Indian st Lis (1)/
one of the wolse §2)/ perform-

s (3)/ in the

recent ti . ®)/ No error. (5)

118. With h&;&n al eleven per
cent ‘ompanies need to

cogite 2)/ with innovalive

@ &u (3)/ get customers to

s good, {4)/ No error. (5)

ate companies which prof-

{1)/ have grown due to (2)/

the high price of oil (3)/

@ should offer discounts on
cooking gas. (4)/ No error. (5)

120. Having work in (1)/ both pub-
lic and private sector banks

{2}/ Mr. Rao is the ideal choice

to (3)/ take over as chairman.

(4)/ No error (5) 9
121. In order to expand, the
pany (1)/ plans Lo tré
from a (2}/ lfamily based

122. Amit started agm con-
struclion bugin 0 years
ago (2)/ whN ountry is
(3)/ enjoyi nstruction

%mr (5)
ent (1)/ mar-

. s has (2)/ belter
or s l vest (3)/ in the in-
@ure seclor. (4)/ No
}

athletes have (1)/ tak-
on yoga (2)/ lo develop
;cir concentration (3)/ and
reduce stress. (4)/ No error (5)

ness into (3)/ a prorﬂ
managed one. (4)/ n - (3)

\fla

due to éircumstantial forces.
(1) compelled, necessa
) P * v . His main aimn is (1)/ to create

(2) refused, dangerous
(3) did, avoidable

(4) committed, inevitable
(5) simplified. harmiul

an (2)/ interest in hockey (3)/
among school children. (4)/
No error (5)

Dinctions {126 - 135 ) : In
the lollowing passage there are
blanks, each of which has been
numbered. These numbers are print-
ed below the passage and against
each five words are suggested, one
of which fits the blank appropriate-
ly. Find oul i.he ap;iropriate word
in each case.

without doubt there is one
tlung (126] to all of us-we have all
played a game al some lime in our
Hves. Most of us play to relax or
have fun. but lor many, playing a
game or a sport is a way to (127)
poverty behind. In fact, in many
African countries, playing a sport
professionally can (128] the lives of
a person's entire [amily.

For example, in the small town
of Bekoji. in Ethiopia {129) than a
hundred boys and girls can be seen
running at dawn gyeryday. Each of
these youth is and serious
and their coa that one
of them will be orld champion.
This seems n idle (132) but it
is virtu A guarantee in this
small ¢ unity [133) mainly
farmers. Many of (he lastest male
an distance runners in the
1 from this small town. A

w
@ andpainted sign which
réets visitors outside Bekoji (134)
slcome Lo the Village of Athletes”.
ildren here start running at an
carl, age, (135] great distances Lo
fetch water and lirewood or Lo reach
school. At the Olympics, runners
from this small town are likely Lo
win more medals than those [rom
developed countries. 1L will give theiwr
families a way oul of poverty.
126. (1) popular (2] accepted

(3) common (4) alike
(5) similar

127.(1) leave (2) alleviale
(3) forgot (4) prevent
(5) reduce

128. (1) shift (2) changes
(3) arrange  (4) control
{5) transform

129. (1) larger (2) further
(3) more (4) greater
(5) over

130.(1) performed
(2) concentrated
(3) rival (4) focused
(5) playful

( PRATIYOGITA KIRAN )  AUGUST 2013 @




MODEL SOLVED PAPER : UNITED INDIA INSURANCE AO EXAM

131.(1) conlident (2) convince

(3) optimist  (4) intended
(5) privilege

132. (1) precaution
{2) boast
(3) suspicion (4) risk
(5) worship

133.(1) for (2) existing
(3) that (4) comprising
(5) consisting

134.(1) wish (2) wamn
(3) inform (4) notices
(5) reads

135. (1) compeling (2) covering
(3) driving  (4) measuring
(5) following
Directions (136-140) : Which

of the phrases (1), (2}, (3) and (4)

given below should replace the

phrase given in bold in the follow-
ing sentences Lo make the sentence
grammalically correct? If the sen-
tence is correct as it is and there is

no correction required mark (5) i.e.

‘No correction required’ as the an-

swer.,

136. The US economy is present in
the face off a serious reces-
sion.
(1) having Lo lace of at pres
(2) presently facing u
(3) presented on the f‘;.&
(4) presently facing

(5) No correction

138.In keness Lhe company
il to achieve its produc-

tion targets this year.

(1) With every likeliness

{2) In all likelihood

(3) IL is likely for

(4) In every likeness

(5) No correction required
139. We have failed assessment of

the advantages of outsourcing

our IT operations. -

(1) in assessment

(2) in not assessing up

(3) Lo assess

(4) the assessment of

(5) No correction required

140. One of the key competencies
for managers are ethics and
the abilily to motivate others.
(1) Among the key competen-

cies
(2) Beside the key compelency
(3) Including the key compe-
tencies
(4) Within the key competence
(5) No correction required

Directions (141-1 Read
the following passage ca and
answer the questions low
it. Certain words/ s have
been printed in help you

locate them whil
of the questions.
There argayarfous seclors in
India that be assessed for
their stre eaknesses, oppor-
tunities I-w\rcam.
[} h&t? population is over 1
h will increase to 1.46
ion by'2035 Lo cross China. The
pulation will result in high-
mployment and deterioration
ality. Literacy, in India is yet

angwering some

ording to 1991 census, 64.8% of
the population was illiterate. The
major downtrend of education is
due to child labour which has
spread all over India and this
should be totally eradicated by wa;
of surveillance arnd a good e
tional systemn implemented
by the Government.
Pollution is one more t
the environment and for,

r
E&chm factor to be discussed. Ac-

n-
try's prospects. Thig hds, b&€én ex-

perienced more areas

mainly in metroptNﬂues. The
water pollution by; age seep-
age into the gro ter and im-
criance will lead to
hich in turn will
affect the nes neration. In most
there is no proper sew-
. The Government has
ective steps to control
tion which, in turn, will
e the pollution.
verty questions Lthe entire
ngth of India’s political view
minimizes the energetic way of
approach. The shortfall of rains,
enormous floods, unexpected fam-

ine, drought, earthquake and the

recent tsunami hit the country in
a negative way. The proactive ap-
proach through cllective rescarch
and analytical study hcelps us to
determine the elfects in advance.
Proper allocation of lunds is a pre-
requisite. In developed countries
like. U.S., Japan precautionary
methods are adopted to overcome
this, but it has to be improved a
lot in our syslems.

Increased population is orie of
Lthe major reasons lor poverty and
the Government is unable to allo-
cate funds for basic needs to the
society. India has nearly 400 mil-
lion people living below the pover -
ty line and 90% ol active popula-
tion is in informal economy. The
children are forced Lo work due Lo
their poverty and differential caste
system. They work in match indus-
try for daily waggs. as servants,
mechanics. sto
tural workers
labour, exis, vs which lavour
the Anti C m abour Act should

oregpopulation results in
t by virtue of the demand
neept. Most ol the loreign
ics try to utilize this lactor
tsourcing their business in
ia with a very low capital. Ac-’
rding to U.S., India is a4 "Knowl

edge pool” with cheap labour. The
major advantage is our communi-

cation and techinical skill which 1s
adaptable to any environment. The
cultting edge skill in IT of our pro-

fessionals helps the outsourcing
companies Lo commensurate wilh

the needs of the consumers in a
short span. The major compelitors
for India are China and Philippines
and by the way of an effcetive com-
munication and expert technical
ability, Indiaps are ahcad ol the
race. The major Mctropolitan stlates
are largeting the outsourcing field
vigorously by giving various amen-
ities to the outsourcing companies
like tax concession, allotting land
cte.; Lo start their businesses in its
cities withoul any hurdles. There-

by most of the MNCs prefer India
as their destinations and capital-

ize the resources to maximize their
asscls. Infrastructure is another
key factor for an outsourcing com-
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pany to start a business in a par-
ticular city. It includes road, rail,
ports, power and water. The in-
creased input in infrastructure in
India is very limited where China's
record is excellent.

India in carlier days gave more
importance to the development of
industry and less importance Lo
other departments. But the scenar-
io has quite changed now-a-days
by allocaling a special budget of
funds for security. This is because
of the frightening increase in ter-
rorism all around the world espe-
cially emerging after the 9/11 ter-
ror attack in U.S. In the last ten
years, budget towards the develop-
ment of military forces is higher
when compared Lo others. It shows
that the threat [rom our neighbour-
ing countries is escalating. India
has to concentrale more on this
security factor to wipe out the prob-
lem in the way of cross-border ter-
rorism.

Making India, a developed
country in 2020 is not an easy lask.
India has to keep in check a vari-
cty of factors in order to progresg
rapidly. To quole China as ah
ample is that they demolis -\%
old building to construct a veryibig
port to meet future demap@ t
India is still waiting fg
happen. The profits |
dia through various
be spent for the develop
wellare of the coufifryg India’s vi-
sion for a brigh th will come
true nol only er¢ words or

speech, but a effort needed at
all levels t ome the pitlalls.
141. Whi he following, ac-

cor to the author, is/are

s) of increased popu-
lation in India ?
(A) Pollution (B)Poverty
(C)Unemployment
(1) Only (A)
(2) Only (A) and (B)
(3) Only (B)
(4) Only (A) and (C)
(5) All (A). (B) and (C)
142. Why, according to the author,

has the Indian Government al-
lotted more funds to strength-

en the military forces ?

(1) To improve security in or-
der to counter increasing
terrorism

(2) As the security in India
over the past len years was
grossly inadequate

(3)As the U.S. too has
strengthened its military
forces after the 9/11 attack

(4) As the industry is devel-
oped enough and is not in
need of any more funds

(5) None of these

143.What is the author’s main ob-

jective in writing this age ?

(1) To exhort the G ent
to garner sup m its
neighbourin ries

(2) To suggest - Govern-
ment to fi hina's ex-
ample b ly thereby
bringing about rapid devel-
opm

(3) To ght the plight of

cuss the problems of
e labour and suggest
table remedies
5),To bring forth the problems
associated with the India’s
development and to sug-
gest measures Lo counter
them
144.Why, according to the author,
is India one of the [avourile
destinations for investment
by outsourcing companies ?
(A) Shorter response time @r
clients
(B) Better technical skill
(C)Availability of ch
bour
(1) Only (C)
(2] All (A), (B) and (C)
(3) Only (B) and {
(4) Only (A) and
(5) Only (A)
145. Which of the g is/are
of the pas-

true in the
sage ?
(A)In sthe way in the

am nvested in the
deve ent of infrastruc-
Ltdre. ]

(B ical system in India is

influenced by poverty
JIndian population would
éincreasc by approximately
50 per cent in the next
twenty five years.
(1) Only (A) and (B)
(2) Only (B) (3) Only (C)
(4) Only (B) and (C)
(5) All (A), (B) and (C)

146.Which of the lollowing is/are

the facility(ies) available to

MNCs invesling in India ?

(A) Easy availability of land

(B)Better infrastructure than
China.

(C)Tax Concessions

(1) Only (C)

(2) All (A), (B) and (C)

(3) Only (A) and (B)

(4) Only (A) and (C)

(5) None of these

147.Which of the following, ac-

cording to the author, is a re-

sult of poverty in India ?

(1) Lack of a robust securily
system

(2) Child labour and the re-
sulting dearth of educated
youlh

(3) Floods, famines and other
calamities

(4) Rapid 1 ¢ in popula-
tion
(5) No ese
148.How, % ing to the author,
ects of floods, fam-

can
ine ought, etc. be mini-
mize

BY limiting pollution there-
y reducing the chances of
‘u such events taking place
2) By educating the children
about the ill effects of such
calamities who in turn will
help during the time of
need
(3) By following the U.S. sys-
tem of providing relief to its
citizens
(4) By allotting proper funds
for research which can pre-
dict the outcome of such
calamities and thus design
relicf measures
(3) None of these
Directions (149-150) :
Choose Lthe word/group of words
which is most similar in meaning
to the word/group of words print-
ed in bold as used in the passage
149.SURVEILLANCE
(1) spying  (2) cameras -
(3) security (4) observation
(5) alertness
150. PREREQUISITE
(1) result (2) association
(3) necessity (4) factor
(5) mystery
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GENERAL AWARENESS |

151. Which of the following is not
correct regarding Financial In-
clusion?

(1) It is inclusive financing

(2) It is the delivery of finan-
cial services at affordable
costs Lo disadvantaged sec-
tions of society

(3) Avajlability of banking and

- payment services to the en-

tire population without dis-
crimination is the prime
objective of financial inclu-
sion

(4) It is exclusive financing

(5) None of these

152. Which term is used for the act
of attempting to acquire infor-
mation by masquerading as a
trustworthy entity in an elec-
tronic communication?

(1) Scamming  (2) Phishing
(3) Spoofing (4) Phreaking
(5) Spamming

153. In computing, what is the pr
cess by which a running
puter system is restart

out the need to inte
power?
(1) Hibernate %
(2) Warm reboolo
(3) Switch user
(4) Cold reb ™
(5) Restart
154.What is it of electric
current’
(ne (2) Pascal
(3) (4) Newton

155. The
lation (Amendment) Act, 1993,
forms the statutory basis for
Exchange Control in India.
The manual which supple-
ments the act has been issued
by
(1) Securities and Exchange

Board of India
(2) Reserve Bank of India

156. Which of the following awards
is annually given by the Gov-
ernment of India for lifetime
contribution to Indian cin-
ema?

(1) Tansen Samman
(2) Dadasaheb Phalke Award
(3) Filmfare Award
(4) National Film Award
(5) IFA Award
157.Which of the follo sa
* form of Plastic Mo
(1) Credit Card
(2) Banknote
(3) Coins amﬁrenctes
(4) Paper not
(5) None ése

1568.In the mic field, what
does and for?

(1) iability management

% lication lifecycle man-
ment

erican Le Mans
Audio-Lingual Method
g (5) None of these
. In which of the following fields
is the Nobel Prize given?
(1) Physics
(2) Chemistry
(3) Physiology or Medicine
(4) Literature, and Peace ®
(5) All of the above

160. In financial accountin,
nance, bad debt refers t

(1) An amount owed i-
ness or individ is
written off liy itor
as a loss

(2) A debt du%}ﬁw laun-
dering ac

(3) A type %agc

(4) A % ecured loan

(5) All ejabove
161. Whi e following, among
th idhs given below, is the
a country?

) Billgaria (2) Nicosia
tarctica
) European Union

(5) Iberia

o

(3) Confederation of Indian In w&.whlch of the following enables

dustry
(4) Union Ministry of Finance
(5) None of these

the server to manage data,
users, groups, security, appli-

cations, etc?

(1) Network operating system
(2) Internet
(3) World Wide Web
(4) LAN
(5) Personal Computer
163. What does NPA stand for?
(1) Non-Participant Assembly
(2) Non-Performing Asset
(3) New Personal Apprentice
(4) New Programming Assis-
., . tant, g,
(5) Non Portable Assistant
., 164.Which of the following docs
not correctly explain a desk-
top computer?
(1) It is a personal computer
(2) It is a computer intended
for regular use at a single

location
(3) Desktops have lower price
in com to laptops
(4)Itisa portable com-
pute

desktops, power con-
S 'I ptlon is not as critical

laptop computers
e field of compulting,
es are not known as
HTTP cookie
2) Web cookie
(3) Browser cookie
(4) HTML cookie
(5) None of these
166.With which game/sport is
Davis Cup associated?
(1) Billiards
(2) Tennis
(3) Badminton
(4) Football (5) Golf
167.Who was recently chosen for
the prestigious Saraswati
Samman 20127
(1) Sunil Gangopadhyay
(2) Sugathakumari
(3) Dalip Kaur Tiwana
(4) Surjit Sen
(5) Jagannaath Prasad Das
168. What does HUF stand for?
(1) High Urine Filtration
(2) Hindu Undivided Family
(3) Hungarian Unicode Forint
(4) Hash Up Forward
(5) Heal Under First (aid)

165.
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169. In which sport is the term
‘back hand drive’ used?

(1) Cricket  (2) Golf
(3) Table Tennis

(4) Billiard

(5) Carom -

170.In the field of insurance,
which term is employed for de-
scribing a professional who
deals with the financial impact
of risk and uncertainty?
(1) Actuary (2) Agent
(3) Assessor (4) Appraiser
(5) Bailee
171. Which of the following state-
ments correctly deflines
‘outsourcing’?
(1) It is the leasing out of an
internal business process
(2) It is leased to a second
party organization
(3) It includes offshoring
(4) It is used only in the con-
text of foreign contracting
(5) None of these
172.__ is the automatic retrieval

of information by a website o
a schedule from anot
website.

173. Which country r hosted
the 5 BRICS Su
(1) India

Brazil
(3) China uth Africa

(5) Russia
174.Accom ion given to slum
dwell a metro city is

kn S

(1) eral accommodation

(2 t accommodation

(3) Transit accommodation

(4) Migratory accommodation

(5) Stop-gap accommodation
176.In the field of business, com-

pany sensitive information

shared by the employees to

make gains is known as

(1) Gambling

(2) Instder trading

(3) Mulching

(4) Ripping

(1) Crawling (2) Phishin
(3) Filtering (4) Do g
(5) Uploading @’

IS

(5) Tipping

178. Which of the following terms/
expressions is not used in the
insurance sector?

(1) Refraction
(2) Casualty
{3) Actuary
(4) Claim

(5) Brokerage

177.The President of France re-
cently visited India. Wijo is he/

she?
(1) Francois Hollange
(2) Angela Merk
(3) Julia Gilla
(4) Dilma Rodss
(5) Nicolas Sarkbzy
178. Which lowing is a po-
etic co on of Kalidasa?
(1) M agnimitram

anasakuntalam
aduta
amorvasiyam
All of the above
o played the award winning
lead character of Paan Singh
Tomar in the movie by the
same name?
(1) Irrfan

(2) Vipin Sharma
(3) Tigmanshu Dhulia ®
(4) Rajendra Gupta

(5) Zakir Hussain
180.When is the Earth D -
ebrated across the wor
(1) 21 March @
(2) 22 April
(3) 1 May 4’ u
(5) 18 July \?
181.Which of th@ ing does
not co: n Real Time
Teleph I
(1) It al ople to speak to
forei s over the phone
Both parties using
native Longue
(&) It "offers perfect transla-
éions
It lets companies avoid
having (o 1w specially
trained multdmanal stadl

(4) It helps compunies mocut
ung their cost

(5) None of the: -

182.Who, at present, is the Chair-
person of Insurance Regula-
tory and Development Author-
ity?
(1) B.K. Chaturvedi
(2) Mihir Shah
(3) K. Kaslurirangan
(4) Narendra Jadhav
(5) TS Vijayan

183. Beltween witich of the follow-
ing teams was the final of 2013
Sultan Azlan Shah Cup
played?
(1) Germany-India
(2) Pakistan-Holland
(3) Australia-Malaysia
(4) Australia-Germany
(5) India-Pakistan

184. Which of the following is not
a Credit Rating Agency?
(1) Moody’ &P
(3) Walmart Fitch
(5)1C imifted

185. What LIBOR stand for?
(1) london Interbank Offered

Létlery Interest Bank of
ussia
London Interest Bank of
Royalty
(4) Leverage against Interest
Burden of Risk
(5) Lottery In British Overseas
Regions
188. Which of the following bodies/
organizations regulates the
securities market in India?
(1) NABARD (2) IRDA
(3) RBI (4) SEBI
(5)cn
187.Which of the following coun- ,
tries is a member of G-87
(1) Brazil (2) India
(3) China (4) Germany
(5) South Africa
188.Which of the following in-
cludes meaningful interpreta-
tion of data and knowledge?
(1) Information
(2) Assessment
(3) Reason
(4) I'm:igllL
(H5) Intuition
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189. With reference lo the insur-
ance and banking sector,
which of the following is the
most appropriate explanation
of ‘PIN'?

(1) People In Need

(2) Postal Index Number

(3) Progressive Inflammatory
Neuropathy

(4) Personal Identification
Number

(5) None of these

190. Who is Navin Ramgoolam?

(1) President of Trinidad and
Tobago

(2) Prime Minister of Fiji

(3) President of Mauritania

(4) Prime Minister
Mauritius

(5) President of Singapore

191. Which of the following refers
to use of the Internet for
transactions and communica-
tion between organizations?
(1) B2B (2) B2C
(3) c2C (4) CRM
(5) E-business

192. Goods marked with which of
the following tags can
tracked electronically? g

of

(1) GPS (2) IMD
(3) ISP (4) AST'M\N'
(5) RFID

193. What docs OS stand.f
field of compul
ness?

rectl
Ini Tax in India?
(1 levied by the State

Government

(2) The centre can levy tax on
all income other than agri-
cultural income

(3) The levy of Income Tax is
governed by the Indian In-
come Tax Act, 1956

(4) Both 2 and 3

(5) Both 1 and 3

1956. Who, among the following art-

ists of Indla, is a Tabla player?

(1) Amjad Ali Khan

(2) Nikhil Banerjee

(3) Zakir Hussain

(4) Hari Prasad Chaurasia
(5) Kaushik Roy
196.Which of the following is not

correct regarding Benchmark

Rate?

(1) It is also called base inter-
est rate

(2) It is the minimum interest
rate investors will demand
for investing in a Treasury
security

(3)It is an inter
against which
est rates are

(4) LIBOR is
benchmar

(5) None of

197.Which of the following allows
firms to %etr resources
on dev g and managing
long- elationships with

tablc customers by
a customer's life-

(2)rr
(4) MIS
) '\Ione of these
Whlch of the following relates
to the processes and applica-
tions that create new methods
to solve problems, perform
tasks, and manage communi-
cation?
(1) Quality 8
(2) Information Technolo
(3) Operations Manage
(4} Efficiency (5) TQM
189. What occurs when ¢

obtain personal info
that allows them to on-
ate someone else er to

use their credit obtain fi-
nancial acco d make
purchases?

ion

s ghe term for the rate
banks borrow funds
e RBI to meet the gap
tween the demands they are
ng for money (loans) and
much they have on hand
to lend?

(1) Call Rate

(2) Repo Rate (3) Bank Rate
(4) Reverse Repo Rate

(5) Cash reserve Ratio

== ANSWERS V=

1. (1)

2. (3)

3. (4)

4. (2)

8. (5)

6. (3)

7. (1)

8. (4)

8. (2)

10. (5)

11. (1)

12. (2)

13. (3)

14. (5)

18. (5)

16. (3)

17. (3)

18. (2)

19. (4)

20. (1)

21. (2)

22. (1)

23. (1)

24. (4)

25. (3)

28. (2)

27. (4)

28. (1)

20. (4)

30. (2)

31.(4)

32.(2)

33. (3)

34. (5)

a8. (2)

36. (5)

37.(2

38. (1)

39. (4)

40. (3)

41. (2)

42.(3

43.(1)

44. 4)

48. (1)

48. (4)

47.(1)

48. (2)

48. (3)

50. (5)

51. (5)

52. (3)

83. (1)

B4. (5)

58. (4)

B56. (3)

57. (2)

58. (5)

B59. (4)

60. (1)

61. (5

62. (4)

63. (3)

64. (1)

@s. (1)

66. (4)

67.(3)

68. (2)

69. (5)

70. (1)

71.(2)

72. (4)

73. (1)

3

76. (3)

77.(1)

. (4)

80. (2)

83. (1)

84. (5)

87. (5)

88. (2)

81. (3)

92. (4)

88. (5)

96. (4)

99. (5)

100. (2)

103. (1)

104. (5)

107. (1)

108. (2)

111. (3)

112. (1)

114. (5)

115. (4)

116. (3)

118. (4)

119. (1)

120. (1)

122. (3)

128. (2)

124. (5)

128. (3)

127. (2)

128. (5)

130. (4)

131. (1)

132. (3)

134. (5)

138. (2)

1386. (4)

138. (2)

139. (3)

140. (1)

142. (1)

143. (5)

144. (2)

1486. (4)

147. (2)

148. (4)

150. (3)

151. (4)

152. (2)

154. (3)

188. (2)

156. (2)

188. (1)

189. (5)

160. (1)

162. (1)

163. (2)

164. (4)

165. (4)

1686. (2)

167. (2)

168. (2)

168. (3]

170. (1)

171. g!

172. (1

173. (4]

174. (3)

178. (5)

176. (1

177. (1)

178. (3)

179. (1)

180. (2)

181. (2)

182. (5)

183. (3)

184. (3)

188. (1)

188. (4)

187. (4)

188. (1)

1869. (4)

180. (4)

181. (1)

192. (5)

193. (3)

184. (2)

186. (3)

196. (2)

197. (1)

198. (2)

199. (4)

200. (2)
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